BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF HUNTINGTON PLACE RECREATION CENTER PHASE 2 PUBLIC FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 189 FORT BEND COUNTY, TEXAS MARCH 1, 2024 LJA ENGINEERING, INC. S. ROSS MARCH 1, 2024

BIDDER'S NAME

TOTAL AMOUNT BID

1037-23003 (9.2)

1) HD OUTDOOR DESIGNS, LLC

\$1,093,341.27

2) TEXAS WALL AND LANDSCAPE

\$1,098,980.00

CALENDAR DAYS 90/120



I, Jacob H. Clark, PLA, hereby certify these bid tabulations to be true and correct.

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

CONSTRUCTION OF HUNTINGTON PLACE RECREATION CENTER PHASE 2 PUBLIC FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 189

FORT BEND COUNTY, TEXAS MARCH 1, 2024 LJA ENGINEERING, INC. S. ROSS MARCH 1, 2024 1037-23003 (9.2)

				1) HD OUTDOOR DESIGNS, LLC		2) TEXAS WALL AN	2) TEXAS WALL AND LANDSCAPE	
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	
MISCELLAN	NEOUS ITEMS							
1 PAYM	MENT, PERFORMANCE, AND MAINTENANCE BONDS	LS	1	\$34,918.87	\$34,918.87	\$15,016.97	\$15,016.97	
	OVAL OF TREES, STUMP GRIND AS NEEDED INCLUDING THE HAUL OFF OF ANY ESS SPOILS AND TRASH	LS	1	\$1,500.00	\$1,500.00	\$4,710.00	\$4,710.00	
MISCELLAN	NEOUS ITEMS SUBTOTAL:				\$36,418.87		\$19,726.97	
CIVIL ITEMS	S							
	WATER PIPE, C-900, DR 18, CLASS 235, ALL DEPTHS, TO INCLUDE BEDDING, KFILL AND FITTINGS, COMPLETE IN PLACE	LF	134	\$8.03	\$1,076.02	\$36.50	\$4,891.00	
2 TREN	ICH SAFETY SYSTEM, WAER LINE, ALL DEPTHS, COMPLETE IN PLACE	LF	134	\$4.50	\$603.00	\$11.75	\$1,574.50	
	NECT PROPOSED 2-1/2" WATER LINE, INCLUDES ALL NECESSARY ADAPTERS AND NECTORS, COMPLETE IN PLACE	EA	1	\$750.00	\$750.00	\$1,765.00	\$1,765.00	
	C SEWER PIPE, 0' – 12' CUT, ASTM D-3034, SDR 26, TO INCLUDE BEDDING AND FILL, COMPLETE IN PLACE	LF	96	\$73.88	\$7,092.48	\$114.00	\$10,944.00	
5 TREN	ICH SAFETY SYSTEM, SANITARY SEWER LINE, ALL DEPTHS, COMPLETE IN PLACE	LF	96	\$7.50	\$720.00	\$12.65	\$1,214.40	
6 SANIT	TARY SEWER CLEANOUTS, COMPLETE IN PLACE	EA	1	\$225.00	\$225.00	\$253.75	\$253.75	
7 12" HI IN PL	DPE STORM SEWER, ALL CUTS, TO INCLUDE BEDDING AND BACKFILL, COMPLETE ACE	LF	157	\$29.25	\$4,592.25	\$69.75	\$10,950.75	
8 TREN	ICH SAFETY SYSTEM, STORM SEWER LINE, ALL DEPTHS, COMPLETE IN PLACE	LF	157	\$4.50	\$706.50	\$12.65	\$1,986.05	
	NECT PROPOSED 12" HDPE STORM SEWER LINE TO EXISTING STORM SEWER T, INCLUDES ALL NECESSARY ADAPTERS AND CONNECTORS, COMPLETE IN E	EA	1	\$750.00	\$750.00	\$1,015.00	\$1,015.00	
	IDARD (TYPE "A") INLET, ALL DEPTHS, INCLUDES TEMPORARY SILT BARRIER E FOR STAGE I INLETS, COMPLETE IN PLACE	EA	2	\$3,510.00	\$7,020.00	\$3,170.00	\$6,340.00	
	RM WATER POLLUTION PREVENTION PLAN COMPLIANCE, ONLY AS DIRECTED BY NEER, COMPLETE IN PLACE	LS	1	\$750.00	\$750.00	\$1,645.00	\$1,645.00	
	ALL, MAINTAIN, AND REMOVE REINFORCED FILTER FABRIC FENCE (SILT BARRIER ING), COMPLETE IN PLACE	LF	1362	\$4.50	\$6,129.00	\$4.30	\$5,856.60	
	ALL, MAINTAIN, AND REMOVE STABILIZED CONSTRUCTION EXIT, AND REGRADE A TO MATCH FINISHED GRADE, COMPLETE IN PLACE	EA	1	\$2,250.00	\$2,250.00	\$5,415.00	\$5,415.00	
	SE II INLET PROTECTION BARRIER ON EXISTING INLETS (TO BE USED ONLY AT THE CTION OF THE ENGINEER), COMPLETE IN PLACE	EA	7	\$75.00	\$525.00	\$106.00	\$742.00	
CIVIL ITEMS	S SUBTOTAL:				\$33,189.25		\$54,593.05	
GRADING A	AND DRAINAGE ITEMS							
1 SITE	ROUGH GRADING INCLUDING THE HAUL OFF OF ANY EXCESS SPOILS	LS	1	\$7,020.00	\$7,020.00	\$50,500.00	\$50,500.00	
2 SITE	FINE GRADING	LS	1	\$10,440.00	\$10,440.00	\$8,695.00	\$8,695.00	
	ALL TREE PROTECTION FENCE AS SHOWN ON PLANS PRIOR TO MOBLIZATION AND TAIN THROUGHOUT CONSTRUCTION	LS	1	\$5,107.50	\$5,107.50	\$1,645.00	\$1,645.00	
	DISCAPE DRAINAGE PACKAGE TO HAVE POSITIVE DRAINAGE AND CONNECT TO DRAINAGE AND GROUT SOLID AS SHOWN ON PLANS. INSTALL COMPLETE IN SE	LS	1	\$17,137.50	\$17,137.50	\$31,670.00	\$31,670.00	
	ND DRAINAGE ITEMS SUBTOTAL:				\$39,705.00		\$92,510.00	

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

CONSTRUCTION OF HUNTINGTON PLACE RECREATION CENTER PHASE 2 PUBLIC FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 189

FORT BEND COUNTY, TEXAS MARCH 1, 2024 LJA ENGINEERING, INC. S. ROSS MARCH 1, 2024

1037-23003 (9.2)

LUA JOB NO.			100	7 20000 (0.2)			
			1) HD OUTDOOR DESIGNS, LLC			2) TEXAS WALL AND LANDSCAPE	
ITEM DESCRIPTION	ON	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
HARDSCAPE ITEMS							
1 PREFABRICATED RECREATION BUILDING, INCLU UTILITY CONNECTIONS AND DRAINS. INCLUDE AI PER PLANS AND EMERGENCY LIGHTING. INSTALL OPERATIONAL	LL EXTERIOR AND INTERIOR FINISHES	LS	1	\$585,582.80	\$585,582.80	\$557,975.00	\$557,975.00
2 BENCH, INSTALL COMPLETE IN PLACE		EA	3	\$7,298.00	\$21,894.00	\$5,500.00	\$16,500.00
3 PICNIC TABLE, INSTALL COMPLETE IN PLACE		EA	3	\$10,164.25	\$30,492.75	\$7,760.00	\$23,280.00
4 ADA PICNIC TABLE, INSTALL COMPLETE IN PLACE	E	EA	1	\$10,425.75	\$10,425.75	\$7,105.00	\$7,105.00
5 TRASH RECEPTACLE, INSTALL COMPLETE IN PLA	ACE	EA	4	\$3,980.25	\$15,921.00	\$2,865.00	\$11,460.00
6 BIKE RACK, INSTALL COMPLETE IN PLACE		EA	3	\$1,310.50	\$3,931.50	\$899.00	\$2,697.00
7 PET WASTE STATION, INSTALL COMPLETE IN PLA	ACE	EA	2	\$1,620.75	\$3,241.50	\$830.00	\$1,660.00
8 LARGE ACCENT BOULDERS, 4'-5' WIDE X 3'-4' TAL	L INSTALL COMPLETE IN PLACE	TON	6	\$825.00	\$4,950.00	\$1,000.00	\$6,000.00
9 MEDIUM ACCENT BOULDERS, 3'-4' WIDE X 2'-3' TA	ALL INSTALL COMPLETE IN PLACE	TON	7	\$825.00	\$5,775.00	\$1,000.00	\$7,000.00
10 SMALL ACCENT BOULDERS, 2'-3' WIDE X 1'-2' TAL	L INSTALL COMPLETE IN PLACE	TON	5	\$825.00	\$4,125.00	\$1,000.00	\$5,000.00
11 4-1/2" THICK, 3000 P.S.I. CONCRETE SIDEWALK W INSTALL COMPLETE IN PLACE	/ITH FINISH SHOWN ON PLANS.	SF	5377	\$8.51	\$45,758.27	\$9.80	\$52,694.60
12 12" (IN) WIDE X 6" (IN) THICK, 3000 P.S.I. CONCRETED PLANS INSTALL COMPLETE IN PLACE	TE BAND WITH FINISH SHOWN ON	LF	40	\$36.75	\$1,470.00	\$11.75	\$470.00
13 4" (IN) DEPTH DECOMPOSED GRANITE WITH BIND	DER. INSTALL COMPLETE IN PLACE	SF	568	\$5.24	\$2,976.32	\$14.00	\$7,952.00
14 6" (IN) DEPTH BULL ROCK WITH FILTER FABRIC.	NSTALL COMPLETE IN PLACE	SF	1134	\$5.96	\$6,758.64	\$6.75	\$7,654.50
15 BLACK STEEL EDGING, INSTALL COMPLETE IN PL	LACE	LF	100	\$13.50	\$1,350.00	\$15.00	\$1,500.00
HARDSCAPE ITEMS SUBTOTAL:					\$744,652.53		\$708,948.10
IRRIGATION ITEMS							
1 POINT OF CONNECTION #1 TO WATER METER AN SECURITY CAGE, AND MASTER VALVE, INSTALL OPERATIONAL		LS	1	\$10.00	\$10.00	\$1,525.00	\$1,525.00
2 IRRIGATION PACKAGE AS SHOWN ON PLANS, INS OPERATIONAL	STALL COMPLETE IN PLACE AND	LS	1	\$44,828.00	\$44,828.00	\$62,080.00	\$62,080.00
IRRIGATION ITEMS SUBTOTAL:					\$44,838.00		\$63,605.00
LANDSCAPE ITEMS							
1 DRUMMOND RED MAPLE, 45 GAL.		EA	4	\$637.41	\$2,549.64	\$535.00	\$2,140.00
2 EAGLESTON HOLLY, 45 GAL.		EA	9	\$987.41	\$8,886.69	\$755.00	\$6,795.00
3 PINK FLOWERING CRAPE MYRTLE, 45 GAL.		EA	7	\$581.41	\$4,069.87	\$520.00	\$3,640.00
4 AMERICAN SYCAMORE, 45 GAL.		EA	4	\$651.41	\$2,605.64	\$525.00	\$2,100.00
5 SHUMARD RED OAK, 45 GAL.		EA	3	\$367.41	\$1,102.23	\$535.00	\$1,605.00
6 SOUTHERN LIVE OAK, 65 GAL.		EA	2	\$839.01	\$1,678.02	\$575.00	\$1,150.00
7 SOUTHERN LIVE OAK, 45 GAL.		EA	3	\$637.41	\$1,912.23	\$445.00	\$1,335.00

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF HUNTINGTON PLACE RECREATION CENTER PHASE 2 PUBLIC FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 189 FORT BEND COUNTY, TEXAS

MARCH 1, 2024 LJA ENGINEERING, INC. S. ROSS MARCH 1, 2024

1037-23003 (9.2)

				1) HD OUTDOOR DESIGNS, LLC		2) TEXAS WALL AN	2) TEXAS WALL AND LANDSCAPE	
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	
8 SOUTHERN LIVE OAK,	30 GAL.	EA	7	\$434.41	\$3,040.87	\$304.00	\$2,128.00	
9 CHASTE TREE, 30 GAL	<u>.</u>	EA	12	\$427.41	\$5,128.92	\$262.00	\$3,144.00	
10 LOROPETALUM, 3 GAL	L.	EA	82	\$23.34	\$1,913.88	\$19.00	\$1,558.00	
11 SUNSHINE LIGUSTRUI	M, 3 GAL.	EA	168	\$32.93	\$5,532.24	\$30.00	\$5,040.00	
12 PINK MUHLY GRASS, 3	3 GAL.	EA	92	\$23.34	\$2,147.28	\$18.50	\$1,702.00	
13 DWARF WAX MYRTLE,	, 3 GAL.	EA	51	\$31.18	\$1,590.18	\$25.75	\$1,313.25	
14 BLUE PLUMBAGO, 3 G	AL.	EA	40	\$23.97	\$958.80	\$20.00	\$800.00	
15 AJUGA CARPET BUGL	E, 1 GAL.	EA	575	\$14.73	\$8,469.75	\$8.60	\$4,945.00	
16 BICOLOR IRIS, 3 GAL.		EA	103	\$24.19	\$2,491.57	\$13.75	\$1,416.25	
17 VARIEGATED FLAX LIL	LY, 1 GAL.	EA	396	\$12.35	\$4,890.60	\$9.00	\$3,564.00	
18 LOUISIANA IRIS, 3 GAL		EA	62	\$24.53	\$1,520.86	\$12.25	\$759.50	
19 BIG BLUE LIRIOPE, 1 G	GAL.	EA	267	\$9.83	\$2,624.61	\$6.80	\$1,815.60	
20 LEOPARD PLANT, 3 GA	AL.	EA	269	\$31.39	\$8,443.91	\$29.50	\$7,935.50	
21 PURPLE LANTANA, 1 C	GAL.	EA	310	\$12.28	\$3,806.80	\$8.50	\$2,635.00	
22 SOCIETY GARLIC, 1 G	AL.	EA	199	\$11.23	\$2,234.77	\$8.25	\$1,641.75	
23 BERMUDA GRASS - HY	YDROMULCH	SF	34882	\$0.25	\$8,720.50	\$0.09	\$3,139.38	
24 BERMUDA GRASS - SC	DD	SF	15778	\$1.21	\$19,091.38	\$0.60	\$9,466.80	
25 LANDSCAPE BED PRE	PARATION	SF	10404	\$2.42	\$25,177.68	\$0.65	\$6,762.60	
26 6" DEPTH PLANTING S	SOIL MIX	CY	193	\$49.38	\$9,530.34	\$68.00	\$13,124.00	
27 2" HARDWOOD MULCH	1	CY	64	\$49.38	\$3,160.32	\$75.00	\$4,800.00	
28 SHOVEL CUT EDGE		LF	1225	\$0.14	\$171.50	\$0.65	\$796.25	
29 LANDSCAPE MAINTEN	IANCE	МО	2	\$3,500.00	\$7,000.00	\$5,000.00	\$10,000.00	
LANDSCAPE ITEMS SUBTOT	TAL:				\$150,451.08		\$107,251.88	
LIGHTING AND ELECTRICAL	ITEMS							
1 LARGE TREE DIRECTION PLACE AND OPERATION	ONAL LIGHTS, RE: LIGHTING SHEETS. INSTALL COMPLETE IN DNAL	EA	5	\$1,408.95	\$7,044.75	\$2,940.00	\$14,700.00	
2 OUTDOOR FAN, RE: L OPERATIONAL	IGHTING SHEETS. INSTALL COMPLETE IN PLACE AND	EA	2	\$2,105.93	\$4,211.86	\$2,940.00	\$5,880.00	
3 RECEPTACLE BOLLAR OPERATIONAL	RD, RE: LIGHTING SHEETS. INSTALL COMPLETE IN PLACE AND	EA	3	\$2,338.25	\$7,014.75	\$2,940.00	\$8,820.00	
4 EMERGENCY LIGHTS, OPERATIONAL	RE: LIGHTING SHEETS. INSTALL COMPLETE IN PLACE AND	EA	2	\$2,802.90	\$5,605.80	\$2,940.00	\$5,880.00	
5 20 AMP GFI OUTLET 20	08-230V, RE: LIGHTING SHEETS. INSTALL COMPLETE IN PLACE	EA	4	\$711.98	\$2,847.92	\$590.00	\$2,360.00	
6 20 AMP GFI OUTLET 12	20V	EA	2	\$711.98	\$1,423.96	\$2,940.00	\$5,880.00	

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

CONSTRUCTION OF HUNTINGTON PLACE RECREATION CENTER PHASE 2 PUBLIC FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 189 FORT BEND COUNTY, TEXAS

2) TEXAS WALL AND LANDSCAPE

TOTAL COST

MARCH 1, 2024 LJA ENGINEERING, INC.

1) HD OUTDOOR DESIGNS, LLC

S. ROSS MARCH 1, 2024 1037-23003 (9.2)

ITEM DESCRIPTION UNIT QTY UNIT COST TOTAL COST UNIT COST

7 ELECTRICAL METER AND SERVICE MOUNTING TO SERVE BUILDING, INCLUDING ALL RACKS, RACK MOUNTED ELECTRICAL COMPONENTS, ALL CONDUITS AND WIRING, PULL BOXES, TIMERS, TESTING, UTILITY TRANSFORMER AND ALL UNDERGROUND CONDUIT AND WIRING FROM THE TRANSFORMER TO THE METER RACK, COMPLETE AND OPERATIONAL	LS	1	\$15,937.50	\$15,937.50	\$8,825.00	\$8,825.00
LIGHTING AND ELECTRICAL ITEMS SUBTOTAL:				\$44,086.54		\$52,345.00

BIDDING SUMMARY		
SUBTOTAL MISCELLANEOUS ITEMS	\$36,418.87	\$19,726.97
SUBTOTAL CIVIL ITEMS	\$33,189.25	\$54,593.05
SUBTOTAL GRADING AND DRAINAGE ITEMS	\$39,705.00	\$92,510.00
SUBTOTAL HARDSCAPE ITEMS	\$744,652.53	\$708,948.10
SUBTOTAL IRRIGATION ITEMS	\$44,838.00	\$63,605.00
SUBTOTAL LANDSCAPE ITEMS	\$150,451.08	\$107,251.88
SUBTOTAL LIGHTING AND ELECTRICAL ITEMS	\$44,086.54	\$52,345.00
TOTAL AMOUNT BASE BID	\$1,093,341.27	\$1,098,980.00